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ECONOMICS

Paper1: Micro Economics
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nts. Please follow the

Section A, B and C are compulsory for all Regular and Private stude h in
instructions, given in each section. Marks distribution for all students are as Shown

question paper. The blind candidates will be given 60 minutes extra time.

¥ A : TGS Section A : Objective

Regular 5x1=5 / Private 5x1=5
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Slope of Demand Curve will be : .
(a) Horizontal (b) Vertical _i¢} Downward sloping  (d) Upward sloping.
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If Elasticity of Supply is greater than one, supply curve will be :
(a) Horizontal () Vertical
(¢} Passing through origin __{(d) Touching Y-axis.
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An ISO-Product Curve will slopes :
(a) Downward to the left
{c) Upwoard to the left
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-{b} Downward to the right
(d} upward to the right.
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Which is the other name of the Average Revenue Curve :
(a) Profit Curve _-(b) Demand Curve (c) Average Cost Curve (d) Indifference Curve
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;E{;iigc;ﬂfh of the following forms of market structure doeg 4 firp have no control over the price of
(a) Monopoly (b) Monopolistie Competition
(c) O‘hgﬂpo'ly ,‘-d) Perfect Cﬁmpetitiun.
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Discuss the nature and scope of Economics.
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Explain five characteristics of Micro Economics.

Regular 5x3=15 / Private 5x3=15
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